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INTRODUCTION ONLY


EXPLANATION/SOLUTION


EXPLANATION/SOLUTION STEP-2


CONCLUSION

Note: You can add explanation part-3, if need be
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1.2 Knowing that a receiver has a sensitivity of —100 dBm, what should be the max-
imum power an out-of-band interferer can have in order to maintain signal quality?
Consider that the receiver has a gain of 10 dB, that the useful signal has a bandwidth of
100 KHz, an NF of 2 dB, 1-dB-compression point of 30 dBm, and an IP3 of 47 dBm,
and that signals out of band have an extra 50 dB rejection due to the use of an input
filter.




